Sr

10

1"

12

Questions

U i e A S S WIS s 058 s e o Ly iy S5 8

e LS s e oS S 3l (Sl ) go lla g b (Seale

Se S st ed) K 5k el

oo o da e S IS LS u e d g

G s g ) S e B Sy S S

o s deie y 58L  JSle S-C2H2

= e e e Blal S SIS Sl (S e i) g0

=2 S Lesee iy B2 gm s (e sl Sy S

0 st ~San B Y 5 i oy S Sle i 50

o s el (S B e 3 S ) B e gl S el s 3S) (nS E8 53 S

o G A 1S e (S 3353500 e S e

= ds) syl

Answers Choice

A
B.
C.

UOW» DOWP UOWr UOWr DOWr UOUP» U0WP 0U0WP» U0Wr U0U» U0®

sl sl oaf
ol sl e

=BT FE

10000 &
100000 &

C6H6
NaCl
KBr
MgCl2

&
Js

Off 8

EX
<
e
e

CH4
KBr

CO2
H20

s A S
3 5

BT WUt
75 CISEN

by S

P

Galy S &8 )1 S
Sl

NP

&ily S ,lg

Silys S S )l S
iy S

e )y s (S B0 By S

G b S B, S

sk S KL il )
EOSCSPERIRE S ICK PP SN

BT V|

S o S S
Sl 8 oy Ka (S
san 1€ 3355501



